
Class:Class 5 Subject: Maths Topic:Algebra

S.No Question Answer Options

1 Identify the type of expression : 
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3 If six times a number is 48 ,then the 
number is __________ .

-8

1

48

8

-8

1

48

8

4 Find the value of 'x' in the following 
expression 18 - x = 7 : ____________

Answer
____________

Answer
____________

5

State whether the equation is True 
or False : Tom's age is x, John's age 
is 15 years now. He is 10 years 
older than his brother Tom :- x + 10 
= 15.

True

False

True

False
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Correct Answer is
1. Correct Ans option is Polynomial
2. Correct Ans option is 6 / 11
3. Correct Ans option is 8
4. Correct Answer is 11
5. Correct Ans option is True
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